BID PROPOSAL FORM (FORMAT B)

046-NN09

Restroom Panels: Supply, Install, Replace and

Created by Verified by

	Repair Repair			Ampco Products, LLC		
	Buyer: Suzanne F. Lopez, CPPB					·
ITEM	DESCRIPTION OF ITEM	EST. ANNUAL QTY	UNIT	PRICE PER UNIT	MFG. & MODEL NUMBER	Total Line Price
1	Demolition, removal, and disposal of bathroom stall	303	per stall	\$95	-	\$28,785
2	Demolition, removal, and disposal of sight screen	303	per screen	\$20	_	\$6,060
3	Demolition, removal, and disposal of urinal screen	303	per screen	\$20		\$6,060
4	Installation of bathroom stall	303	per stall	\$140	-	\$42,420
5	Installation of sight screen	303	per screen	\$35	-	\$10,605
6	Installation of urinal screen	303	per screen	\$35	-	\$10,605
7	Installation of toilet paper holder	303	each	\$22	-	\$6,666
8	Installation of ADA grab bar	303	each	\$22	-	\$6,666
9	Materials used to fabricate stall panels, pilasters, sight and urinal screens not otherwise specified in line items	4,000	per square inch	\$0.60	-	\$2,400
10	Stall door unit, 24" wide 55" high, with continuous hinge, (Markar #FS402, or approved equivalent), latch, strike/keeper, heat sink, bumper stop, door pull and toilet paper holder, including all fasteners installed	220	per unit	\$614	047-D24W/C HINGE TP2 HOLDER	\$135,080
11	Stall door unit, 34" wide 55" high, with continuous hinge, (Markar #FS402, or approved equivalent), latch, strike/keeper, heat sink, bumper stop, door pull and toilet paper holder, including all fasteners installed	75	per unit	\$783	047-D34 W/C HINGE TP2 HOLDER	\$58,725
12	Stall door unit, 36" wide 55" high, with continuous hinge, (Markar #FS402, or equivalent), latch, strike/keeper, heat sink, bumper stop, door pull and toilet paper holder, including all fasteners installed	22	per unit	\$792	047-D36 W/C HINGE TP2 HOLDER	\$17,424
13	Pilaster design shoe made from single ear continuous plastic bracket	3,300	per linear inch	\$0.30	-	\$990
14	Single ear continuous plastic bracket, 54" in length	248	each	\$14	470-BTS54	\$3,472
15	Double ear continuous plastic bracket, 54" in length	495	each	\$15	470-BTP54	\$7,425
16	Hinge, continuous, aluminum, full surface, spring loaded, Markar FS 402, or equivalent. 54"	210	each	\$154	439-CONT FS402	\$32,340
17	#10/14 Lead anchor, 1-1/2"	5,500	each	\$0.30	#10-14 LEAD ANCHOR	\$1,650
18	Striker, 6"	210	each	\$7	5878/5778	\$1,470

	BID PROPOSAL FORM (FORMAT B)	<b>a</b>		Created by	<i>'</i>			
	046-NN09	Verified by						
	Restroom Panels: Supply, Install, Replace and Repair		Ampco Products, LLC					
	Buyer: Suzanne F. Lopez, CPPB		,		·	<del>,</del>		
ITEM	DESCRIPTION OF ITEM	EST. ANNUAL QTY	UNIT	PRICE PER UNIT	MFG. & MODEL NUMBER	Total Line Price		
19	Latch	210	each	\$6	4988/5054	\$1,260		
20	Headrail Bracket	220	each	\$3	2150	\$660		
21	Headrail	2,200	each	\$3	047-HR	\$6,600		
22	Heat sink strip, installed	1,238	per linear foot	\$2	473-HS120	\$2,476		
23	Toilet paper holder, Royce Rolls Ringer, Model TP-2, or approved equivalent	210	each	\$75	907-TP2	\$15,750		
24	Restroom stall panels, 55"x55"	200	each	\$222	047-P58	\$44,400		
25	Restroom stall panels, 55"x58"	200	each	\$229	047-P61	\$45,800		
26	Restroom stall panels, 55"x66"	25	each	\$254	047-P69	\$6,350		
27	Restroom stall panels, 55"x68"	50	each	\$262	047-P71	\$13,100		
28	Restroom stall panels, 55"x70"	100	each	\$276	047-P73	\$27,600		
29	Restroom stall door 24"x55"	500	each	\$114	047-D24	\$57,000		
30	Restroom stall door, 34"x55"	50	each	\$150	047-D34	\$7,500		
31	Restroom stall door, 36"x55"	100	each	\$155	047-D36	\$15,500		
32	Sex bolts, Torx screw head, #10x1, stainless steel	22,000	set	\$0.75	439-88360 439-88320	\$16,500		
33	Screws, #14x1-3/4", Torx head, stainless steel	5,500	each	\$0.40	439-91913	\$2,200		
34	ADA grab bar, stainless steel 304, 18 gauge, 1-1/2" x 42"	100	each	\$35	9072450SS42	\$3,500		
35	Headrail end cap	100	each	\$1.14	439-6801	\$114		
36	Pilaster, 3"x82"	100	each	\$23	047-SB03	\$2,300		
37	Pilaster, 4"x82"	100	each	\$25	047-SB04	\$2,500		
38	Pilaster, 5"x82"	100	each	\$31	047-SB05	\$3,100		
39	Pilaster, 6"x82"	100	each	\$42	047-SB06	\$4,200		
40	Pilaster, 7"x82"	100	each	\$59	047-SB07	\$5,900		
41	Pilaster, 8"x82"	100	each	\$65	047-SB08	\$6,500		
42	Pilaster, 9"x82"	100	each	. \$70	047-SB09	\$7,000		

BID PROPOSAL FORM (FORMAT B)

Created by\_

Verified by Restroom Panels: Supply, Install, Replace and Ampco Products, LLC Buyer: Suzanne F. Lopez, CPPB EST. PRICE PER MFG. & MODEL UNIT ITEM **DESCRIPTION OF ITEM** ANNUAL Total Line Price UNIT NUMBER QTY 43 Pilaster, 10"x82" 100 each \$74 047-SB10 \$7,400 44 Pilaster, 11"x82" \$79 047-SB11 \$7,900 100 each 45 Pilaster, 12"x82" 100 each \$84 047-SB12 \$8,400 \$8,900 46 Pilaster, 13"x82" 100 each \$89 047-SB13 47 \$9,400 Pilaster, 14"x82" 100 each \$94 047-SB14 48 Pilaster, 15"x82" 100 each \$98 047-SB15 \$9,800 49 Pilaster, 16"x82" \$103 \$10,300 100 each 047-SB16 50 Pilaster, 17"x82" 100 each \$109 047-SB17 \$10,900 51 Pilaster, 18"x82" 100 each \$114 047-SB18 \$11,400 52 Pilaster, 19"x82" \$119 047-SB19 \$11,900 100 each \$124 047-SB20 \$12,400 53 Pilaster, 20"x82" 100 each 54 \$128 \$12,800 Pilaster, 21"x82" 100 each 047-SB21 55 Pilaster, 22"x82" \$132 047-SB22 \$13,200 100 each 56 Pilaster, 23"x82" 100 each \$136 047-SB23 \$13,600 57 Pilaster, 24"x82" \$140 \$14,000 100 each 047-SB24 58 each \$35 047-SFC03120 \$3,500 Pilaster, 3"x120" 100 59 Pilaster, 4"x120" 100 each \$46 047-SFC04120 \$4,600 \$4,900 60 Pilaster, 5"x120" 100 \$49 047-SFC05120 each \$53 047-SFC06120 \$5,300 61 Pilaster, 6"x120" 100 each \$5,900 100 \$59 047-SFC07120 62 Pilaster, 7"x120" each 63 Pilaster, 8"x120" 100 each \$65 047-SFC08120 \$6,500 \$7,000 64 Pilaster, 9"x120" 100 each \$70 047-SFC09120 100 \$78 047-SFC10120 \$7,800 65 Pilaster, 10"x120" each Pilaster, 11"x120" 100 each \$86 047-SFC11120 \$8,600 66

	BID PROPOSAL FORM (FORMAT B)	7		Created by Verified by		· · · · · · · · · · · · · · · · · · ·	
	Restroom Panels: Supply, Install, Replace and Repair			Ampco Products, LLC			
	Buyer: Suzanne F. Lopez, CPPB						
ITEM	DESCRIPTION OF ITEM	EST. ANNUAL QTY	UNIT	PRICE PER UNIT	MFG. & MODEL NUMBER	Total Line Price	
67	Pilaster, 12"x120"	100	each <sub>.</sub>	\$94	047-SFC12120	\$9,400	
- 68	Pilaster, 13"x120"	100	each	\$103	047-SFC13120	\$10,300	
69	Pilaster, 14"x120"	100	each	\$113	047-SFC14120	\$11,300	
70	Pilaster, 15"x120"	100	each	\$119	047-SFC15120	\$11,900	
71	Pilaster, 16"x120"	100	each	\$128	047-SFC16120	\$12,800	
72	Pilaster, 17"x120"	100	each	\$136	047-SFC17120	\$13,600	
73	Pilaster, 18"x120"	100	each	\$144	047-SFC18120	\$14,400	
74	Pilaster, 19"x120"	100	each	\$151	047-SFC19120	\$15,100	
75	Pilaster, 20"x120"	100	each	\$166	047-SFC20120	\$16,600	
76	Pilaster, 21"x120"	100	each	\$170	047-SFC21120	\$17,000	
77	Pilaster, 22"x120"	100	each	\$178	047-SFC22120	\$17,800	
78	Pilaster, 23"x120"	100	each	\$185	047-SFC23120	\$18,500	
79	Pilaster, 24"×120"	100	each	\$194	047-SFC24120	\$19,400	
					TOTAL	\$1,081,153	
Items 80 through 82 will not be used to calculate bid award, however, awarded vendor shall honor these prices if additional support functions or modifications are requested by M-DCPS. Vendor must bid all items.							
80	Cost per labor hour for skilled mechanic	160	hour	\$175	-	\$28,000	
81	Cost per labor hour for unskilled helper	160	hour	\$125	-	\$20,000	
82	Percentage markup for parts and materials	-	percentage	20.00%	-	-	